Unit 1 Grammar Matters

Hello, everyone. I am Piers Williamson. Welcome to our special lecture “Modular Approach to Reading”.
In this unit, we will examine the importance of grammar when you read and comprehend English sentences

accurately.
BRIV IIHIE, BIRTY, 2=y FTlE, EXZELBHFETL LT, UENRAYIC TRICED] &
WO ZEERMMLET, 3. BHAFET TMEBEWELY —L4) 2o TAHAEL LI,

[TICZ&(F] CTEHBEERRTEE) DETHEE | Grammar Matters!

Let us first play a language game: “reconstruct a worm-eaten sentence”. Look at the following example in
Japanese. Suppose that we found an old document, some parts of which have been eaten by worms and are
missing. Try to fill in the missing parts and reconstruct the sentence. Note that there are several

possibilities.

AADI A B

BAWERSIZ [TICE2E RCEFOFEEEZ AT, ZOXEEITLLTHAEL L I, (@Y ORREMENRH D F303?

FA I HRT Az B

In addition to this simple way, we may have the following as well.

FAH I HT AL BRbRE
AAH IS H/O FFNE AR
FAI I /RO FAD BILNT-

ShiZ, BESFHOMRRL, RONZ—=HAETL X D,

If it is a fairy tale, the following reconstruction is also possible.

FAHID B FFAE BT
FAHID B FFAC BB

In other words, content words such as nouns and verbs alone cannot tell us what the sentence actually
means. Z DX DT, [TZZIT) RCEFEAOIEHEAR L, SUEMREEEN LOBEW A RO H FCEHEREHIZ R L
TWET,

BEEEEDEEIN &> THEE | Grammar Matters!!

Now, we will see that exactly the same applies to English. Consider the following worm-eaten sentences in
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English.

Alice eat __ carrots the garden.

Try to reconstruct the sentence by filling in words or verbal endings in the blanks. Remember that there are

several ways to do this. For example, you may easily construct the sentence like this.
Alice will eat the carrots in the garden.
And many other examples like these are also possible.
Alice can eat many carrots of the garden.
Alice has eaten some carrots from the garden.
Alice is eating carrots in the garden.

Further, if it 1s a fairy tale,

Alice was eaten by the carrots in the garden.

is also grammatically possible. Right? Now we can recognize an important fact about reading English
sentences. Just looking at content words such as Alice, eat, carrots, garden is not good enough. Grammatical
function words such as auxiliaries has, verbal endings such as —en, and prepositions such as from are crucial
elements to understand the sentence accurately.

ZOXRS B ERLIZTTH, SR EMICEFET 2 72DI1iE, SOEE BT 5 Z L3 TERN I ER L G0
URESr el

Bearing this in mind, let us look at the very last part of the Lincoln’s famous Gettysburg Address.

... We here highly resolve that these dead shall not have died in vain,
that this nation under God shall have a new birth of freedom
and that government of the people, by the people, for the people

shall not perish from the earth.

O TNAA TA b LT SUEERERE (k2 OT7 F A FTILRT PRI %) 284 LT, freedom, government,
people, perish, earth 72172 AT, ZZhoREROERZEBLE O L LTHLEHTLZL WS Z R0 £,

Satoshi (S): Hi Piers.

Piers (P): Hi Satoshi.

S: It seems you like that side.

P: Yes, I like this side because I speak English; the left edge is very important in English.

St REETIIAWRMNEE, LIXLEIWVHI T ETL L IM, HAGEGEE O, EiT, A& Ty, HAGET
AN EEROTT,
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BAERD [FHisl (C3EB : Watch the Right Edge of Japanese

Look at a Japanese example.
KERIE TR & 7o~ T

Fm BRSOk To) #IMR 5 &,
KEBIX Tz BT D?

EWV D XD, BERISCIZZ D 9743,

If you add a question marker “No” with a rising intonation at the right edge, the sentence turns into a
question sentence.

TIEZAXTY, FPREICEN T A Z 1 ODANT, XETRSETILE,

Fill in one “Hiragana” in each blank and complete the sentences.
&1L CRERA ZfE B2 JBoTng

MEFIZCRESD T2 BT LB - T D)
Yes. By adding the declarative marker “to” at the right edge of the embedded clause, the embedded sentence
is marked as a declarative clause.
DAL OLIZ &) Z#ANDZ & T, ZOWRBEINRERLTHLHZ b ~—7 LTWET,
RO E S TEFA?

&3 DRESAS T & &~7-_ 1l

Notice that you use a different marker when the embedded clause is a question type.

M&TI13 DRESAS T8 & g~ T plshar )

By adding the question marker “ka” at the right edge of the embedded clause, the embedded sentence is

marked as an interrogative clause.

HDIAB SO (23] ZANDZ LT, ZoRENE X ThHILZtE~—27 LTWnET,

RER(IWD [Eim] (C3EB : Watch the Left Edge of English

Now, let us consider the English version. Look at these sentences.

THRUCENZENEEFE 1 B2 AN T, LEFEMITETI I,
Yuko said [ ___ John ate the pizzal.

Put one word in the underlined part to complete each sentence.

Yuko said [that John ate the pizzal. By adding “that” at the LEFT edge of the embedded clause, you can

11



mark the clause as a declarative clause. Now, how about the next sentence?

Yoko asked [ ___ John ate the pizzal.

Just like the Japanese case we have just seen above, we use a different marker. Yuko asked [ if John ate the
pizzal. To complete this sentence, you have to add a question marker “if” at the LEFT edge of the embedded
clause. You can use “whether” instead in this case, but the point is you mark the clause at the LEFT edge in

English. This “if” indicates that the embedded clause is an interrogative type.
HAGECIIAMW T, #EETIIAM T, XDEA T2~ —0FT 5L W0W) T ENEERFA L NTT,

Now, let us next consider multiple choice quizzes.
T, RDOT A XTH,

VAT aDFIIE. EDORNED LD AR ONZTHH LT D EMRE T,

KERIE (B [ EWT | KEHATR
=AY
ExF L

&

The bracketed part is supposed to modify the book to explain what kind of book it is. Which is the most
appropriate form of “kaku”? Of course, it is “Kaita” that is the most appropriate form in this case.

2Dy adsn, TR HEMT D8I L UTHRET 212X, 7y aNOLEEOEEI O H AGE TIIREH
B DTY,

The form of the verb at the right edge is extremely important in Japanese, to indicate the function of the

clause properly.

[ il + A S 5405
(EHHET) k< ANOBFOEAREE : TEAE] ThRiFnide ban

Let us finally consider English.

Which is the most appropriate form to make the bracketed clause function as the one modifying the book?

VU471~ 2 the book ZEffid HEi& L CTHERET 2 7-0I21E. ED wh B i bt T3 72

John read the book [ ( who is expensive].
when

which

whose

Of course, it is “which” that is the most appropriate form here.

ZOWMMAT y ADE AN, the book ZAEAIT DI & L THIET 2121%, I v aNDLEm O BIFRARAA TN 2 £ 5

12



PP RGE TIIREREE 2D T,

The form of the relative pronouns at the LEFT edge is extremely important in English, to indicate the
function of the clause properly. In order to decide the correct form of the relative pronoun, you have to take
into consideration the semantic type of the antecedent noun phrase as well as the relation between the noun

phrase and the modifying clause.

Effi S o4 + [ B4 ]
(fE i)

* MmO BERRA B DTE A i BB (SefTail D & A 77 LAEHE OBk TR £ %)

Wrap Up F&&

OK? Let us wrap up today’s point.
TNTIEHSHOE LD TT

HEWETTS —ATRIEZE I, BAGETHIGEETSH, EKREFOKENL L THHRETT,

Grammatical function words such as prepositions, auxiliary verbs, articles, and verbal endings are crucial to
understanding English sentences properly. Not looking at these words carefully is just like ignoring “te, ni, o,
ha” in Japanese.

CHBICEREZH DR VWEFEOGATIE, [TIEIT] 2EE L THAFELZH DG ) LT 926D T, EMHEIC
B2 2 L3 TERNE VW) ZEEHLMNATLE D,

Next, we have seen the right edge is important in Japanese, while the left edge is crucial in English.
MWIZED ZRAOT, ZOEROERITIER T2 Z &0, FEEOH L LT LW TW TEODHENRTTETL X 9,
When you find a chunk or a unit in an English sentence, examine the left edge. It will give you a significant

clue to identifying the function of that chunk or unit.

Sh, FELODIAXTT,
ROILT, T I RMOHFERTT N2 ZN L BEFERTTN?

REBIE [0 ] o Tk

John came [ the school]

Is “the school” John’s destination or John’s point of departure?

HARGECIXA A, JE5E TIEAmMN Z OfEROE N ZRE ST 71,

Now, you all know that the right edge is the key in Japanese, whereas it is the left edge that is the key in
English.

(kKeys: HAFEOHITIE, [ 1OEMWIZ b 2 AN 12 Z ANDHTHIRED £9, B cix, [ ]
DT from| ZAILDD Tto)] Z ANDTHRED F9, 3o M) OBERNEEL2KRENZ2E-L VDD
SNSED)
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[Piers and Satoshi are standing on the wrong sides]

Satoshi (S): &db. AHD Ly ZATWNPDIT LIZA?

Piers (P): Satoshi! We are on the wrong sides!

S: Oh! You are right. What a shame!

[Exchange the locations]

P: Well, how was today’s lesson.

S: (Phew. I'm comfortable here)

P: We hope you enjoyed it. Good luck, and keep working hard!

Tips from Center for Language Learning A EEHBEZ>F—H5DAYE—(2)

[RIAZ(E] : BARFEICEHD K !

HEEZ LI COMCKDOFEEZ TR D & TRHEAEN] LW BLIRICHESW, T AnDb7e<72nE 5 TT,
(29 LT, RHRABIZEnHHAE  mEL SV LE-oTLEY DL LILERTA, 728 21E, LTOREE
OHNE, BHDOFFsI7ZT. HAHWIEIEl R nI@IE T, 2RIk E BF) B’ Eb-oTWnET,

see - saw - seen

give - gave - given

AL 72 5, play — played, love - loved, walk — walked 72 XD K 512, -(e)d ZfHFAUE L VWTd i, HAGE
IZEITL X 9D

7.2 R.7- A
BD B B2

[F.(mi)| 2FERT, T IRERE( -5 [-72) -2 AT TnET, [ (tabe)] & &b THILE,
ZDORE =0 ETHHEAIA _ﬁziﬁ”o [A(mi)) NHEBEE T L LEFA L, [B(tabe)] HIBIAT, &
fELERA, BEETH D AAREITIIFHAE R E LS TR Z2b0idz2wyy, EEVIALTNSO0 8 L
NEHA, LL, BRECLH T L, RO 20085, ZNENER (L LAV IEETY) 1282 F T
TIH?

<5 7= ZRn
T 5% L7 L7320

HPICED I NN TLZEN, S &urw) 7z (kita) | 720 (konai) | & v —~<FREUTTIUIH 5072
oz, BELodsmE GE 1‘E'< B85 El k1 Wo &R, [T56urw)) [Lizita)) L7
l/‘(Slnal)J TH, RBE EOMEE GERIZY7Z5551F) [slEns &g, HREEZO0 LN TRS =
EHTEFERA, RAOTFEHZITHIBETH D AHAEEGE, EZNTREZZERDY TN £
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T9 43, HFED seelsaw/seen X give/gave/given 72 £ LR U L 9 7e/X% —2 DT,

T, go—went (X EH7250D2 LWHHRMNEZHTT, & THIWERTI R, go & went DAL, D
AHHAENE (see/saw X° givelgave 72 &) LB | RBEF LOEENEH Y FHA, WEOFERE R 720
LONBEREBERLE L THEDNLTWHDEDOTT, WolZWMIBEZ 5720 TL X 90 ZHUEhlx o 2 FEEO
HEED Y B, —inbEIE go Lk gone NERM S 4L, & 9 — b ER went DR SN 7o " Z — b
o TWET, bbb LIBOHBEBTIIRVLONRES>TNDEDOTY, BKDH D NTEHOFEET went
ZFNWTZOHMAZ R TIEEW)

ZDX D IR — 2 fEFEE (suppletion) & SV FET, TEFETIXZ DIEZNIT, good —better 72 K3 d
DET, STHICZARBNLARZ LITAAREICIZRAVWEERsTOHEREALN? b0 ET X, 3. ROBFHD
FIEEREEEZ R CHREL X 9,

i%i4 AIREIE
BD BXbND
weie k)
yom-u yom-eru
#< ADRA)
aruk-u aruk-eru

THHIFT T, RO R GLi@EEtss) ICTREDFEZ (-eru, -rareru) 231 < Z LIZK > THREFIC/e > T
F90, ThTiE #BE (95 ORI T T n?

i%i4 eI
T2 TED (kD)

T&2] THR, 2 142 LRELOWEHITH Y FHA, (T2 LITEBIRKOBFZ S > T
T T2 OFREI L LT > TWD DI TT, ZHUTHAGEICIRIT 2 FIEDOHIT, HFED go—went & [F L
BRBRR 6D DT T,

HOREE (B S ADOHEIEZE IXAARGE) XZXEEFHED S BIZHIZOWT, BERO O BITE->TWES
MW, EZICAHBEEN D 5720, HEERH o720 L) ZEICEEITIZE A LR EEEA, ZLT,
AEFETEDO LI RBSENRHTL 58, T(HAEBIZITARVWE 7)) REABIEAAERECIZSH D] L EVIAAT
LEI>DOITTTIR, LL, L<HRTHDL L, FLZATOBRNHARGECHL AN Z ENGH0 £9,
FED THIER) bAMERETE OBRILD 1 272D TT,
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